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1986 140.15 271.09
1987 135.54 275.45




1988 139.40 285.15
1989 145.03 310.82
1990 155.87 391.99
1991 168.75 442.04
1992 183.92 461.40
1993 193.91 443.84
1994 185.83 450.03
1955 191.10 470.70
1996 206.21 511.33
1997 207.35 547.41

InC =-3.33+1.38InY

n=23 K=2
SSE =0.341
SSR =2.44

Y =4.82

SE(4)=1.29, SE(B)=0.219

 -3.33-0

L= = =—2.57
’ 1.29

0.219
t(n—k)(lfo.ozs) = t(21,0_975) =2.080
F=3988 F,,,,=F,=432

R*=0.65
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9 3.45 9
10 350 10
11 3.60] 11
12 410 12
13 435 13
14 440 14
15 450 15
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55 100
70 90
90 80
100 70
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80 70
110 65




125 60
115 60
130 55
130 50
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